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QUESTION 1

UNIX allows file access based on __________. 

A. GID or UID and UNIX permissions. 

B. NT ACLs and UNIX permissions. 

C. NT ACLs and SID. 

D. GID or UID and ACLs. 

Correct Answer: A 

 

QUESTION 2

What are three characteristics of NetApp NAS systems? (Choose three) A. NAS systems support CIFS, NFS or a
combination of both (multiprotocol). 

B. NAS systems support FC, FCOE or iSCSI protocols. 

C. NAS systems provide flexible provisioning, reliable backups and archiving. 

D. NAS data is accessed at the file level. 

E. NAS data is accessed at the block level. 

Correct Answer: ACD 

 

QUESTION 3

Which NetApp solution is pre-validated and includes storage, network, and server components? 

A. Windows Consolidation 

B. V-Series 

C. FlashArray 

D. FlexPod 

Correct Answer: D 

 

QUESTION 4

To view per client NFS statistics on a storage system, the option nfs.per_client_stats.enable must be set on. 

A. True 
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B. False 

Correct Answer: A 

 

QUESTION 5

FC architecture supports which three topologies? (Choose three.) 

A. FC-HW (Hardware based Fabric) 

B. FC-SW (Switched Fabric) 

C. FOAL (Arbitrated Loop) 

D. FC -P2P (Point to Point) 

Correct Answer: BCD 
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